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. You have to return the original O

8.

Instructions for the Candidates

. Write your Roll Number in the space provided on the top of this page.
. This paper consists of one hundred (100) multiple choice type of questions. All questions are compuisory.
. Al the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested to open the

booklet and compulsority examine it as beiow :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
sticker seal and do not accept an open hooklet.

(i) Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty booklets
due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced immediately
by & correct booklet from the invigilator within the period of 5 minutes. Aflerwards, neither the Giuestion Bookiet will be replaced
nor any extra time wiil be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet
Number should be entered on this Test Booklet.

. Each item has four alternative responses marked (A), (8), {C) and (D). You have to darken the oval as indicated below on the correct

response against each item.
Example: CA> @@ (C> (B where (B) is the correct response.

. four responses to the ilems are to be indicated on the OMR Answer Sheet under Paper - Il only. If you mark your response at any

Elace other than in the oval in the OMR Answer Sheet, it will not be evaluated.
ough Work is to be done in the end of this booklet.

- It you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the space

allotted for the relevant entries, which may disclose your identity, or use abusive language or employ any other unfair means, such as
change of response by scratchin?nor using white fluid, you will render yourself liable to disqualification.

R Answer Sheet to the invigilator at the end of the examination compulsorily and must not carry it
with you outside the Examination Hall. You are however, allowed to carry original guestion bookiet and duplicate copy of OMR Answer
Sheet on conclusion of examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative marking.

- In case of any discrepancy in the English and Guijarati versions of questions, English version will be taken as final.
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1.

~ PSYCHOLOGY

Paper — I

Which of the following does not follow
selective attention ?

(A} habituation
(B) contrast
(C) change
(D) intensity

- According to the opponent-process

theory of color vision, the correct

pairings of opposite colors are

(A) black versus gray and white versus
colored

(B) blue versus green and red versus
yellow

(C) red versus green and blue versus

yellow

(D) blue versus red and green versus
yellow

. When we look at an object, each one of

our two human eyes receives a slightly
different image of the object is known as

(A) binocular disparity
(B) binocular inversion
(C) convergence

(D) stereophonic vision

1. ollAstniell 52) ues u el s taitol

wajURd oefl 2
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(B) @Areux s Qudld
(C) 35 /uBadet

(D) lladl
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(A) stouell (A4 ) wal uFe Qg 29001

(B) cledll (Az4 AlA U cllct ([A3e
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©) et (3¢ cllcl ua ¢ 7 cueoll
Qe dlal

(D) atedll Qg6 cld wa Al Qs
Yl
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¢l3L, U wUugll A Hiotellay wivilaiel
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Al da A3l A aumeuni2ud B,

(A) B-alRa viynLetel
(B) B-a\Rx ejstazl
(C) usostlaus1

(D) AUaweUH 4R



4,

Ankit notices that his dog salivates as
soon as his dog hears the sound of the
electric can opener. In this example, the
sound of the can opener is the

(A) positive reinforcer
(B} conditioned stimulus
(C) primary stimulus

(D) secondary reinforcer

When a strongly conditioned CS is used
to make another stimulus into a CS, the
effect is known as

(A) higher-order conditioning
(B) spontaneous recovery
(C) extinction

(D) stimulus generalization

. Forgetting of short term memories can

be explained on the basis of
(A) disuse

(B) repression

(C) decay

(D) interference

. If you consciously succeed at putting

a painful memory out of mind, you
have used which one of the following
mechanisms ?

(A) Reintegration

(B) Suppression

(C) Negative rehearsal
(D) Attention seeking
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8.

10.

11.

Which of the following basic unit will be
required to mentally rotate an object ?

(A) concepts
(B} language
(C) symbols

(D) images

Functional fixedness is a major barrier to

(A) using random search strategies

(B) mechanical problem solving

(C) insightful problem solving

(D) achieving fixations through problem
solving

Fluency, flexibility and originality are
characteristics of

(A) creative thought

(B) trial-and-error solutions
(C) convergent thought
(D) deductive thinking

Which of the following is not one of the
three areas of intelligence described by
Sternberg ?

(A) exponential
(B) analytical

(C) practical

(D) creative

8. A adxdal HlelRs A uRaldd sau
2 ollAetiuiell sl yagd Asuoll
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(B) el
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(D) Wl
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(C) Wiy xR G3c

(D) M2l B3l RARAL Winel
scll

10, AU, Adlaiug wa
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(A) UXlcds [Qaleu

(B) Yt o @ B3

(C) Vs [Qazeu

(D) Patdeteas [Queu

11. @oledlell andlA o[Gett AQL @rctte]

aglet ol Aottriell 53 atell 2
(A) elctigla
(B) (QeAd™uucHs

(C) cacslRs

(D) ¥ofellcHs




12.

13.

14.

The linguistic relativity hypothesis states

that

(A) one’s language determines the
pattern of one’s thinking and views
of the world

(B) one’s thinking and view of the
world determines the structure of
one’s language

(C) we decide which objects belong to
a concept according to what is most
probable or sensible, given the facts
at hand

(D) perception of surface structure
precedes deep structure in
understanding a sentence

The trial-and-error method of solving
problems is also known as

(A) the use of a heuristic device
(B) the use of algorithms

(C) the mechanical solution

(D) the A.l. solution

According to Craik and Lockhart's
model of memory, how long a memory
will be remembered depends on

(A) the type of memory it is stored in

(B) the place in the brain where the
memory is stored

(C) the amount of extinction that the
memory has suffered

(D) the depth of processing associated
with learning the materials
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14.
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15.

As an cbject gets closer, its visual -

angle becomes and its

retinal image gets
(A} larger, smaller
(B) smaller, larger
(C) smaller, smaller

(D) larger, larger

15.

BH BH sl c&cj ol%s ld & dH
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def sRuzd u? usd ullcla
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(A) Mg, otle]
(B) olief, Mg
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16. People with normal vision will perceive | 16.
a Taj Maha! whether they see it from the
side, top or any other angle as long as
the object is, in fact, Taj Mahal. This is

the law of :
(A) shape constancy
(B) size constancy

(C) figure-ground

(A) ASIR AldeL
(B) SE Alcle

(C) 2ugl A usde@st

(D) visual angle (D) sfRslel
17. Which of the following is a binocular 17. o0 Acimiell sA A2 ASd B,
cue ?
(A) [l

(A) clearness
(B) linear perspective
(C) retinal disparity

(D) texture

(B) vl idaA U
(C) af® @Quua

(D) ¥3u



18.

19.

20.

The tendency for a stationary light viewed
against darkness to look as though it's
moving is called :

(A) synthesizing process
(B) auto kinetic effect
(C) kinetic depth effect

(D) motion parallax

The distance cue in which two parallel
lines extend into the distance and seem
to come together at one point is called

(A) linear perspective
(B) aerial perspective
(C) shadowing

(D) motion parallax

A negative reinforcer is a stimutus that
is and thus, the
probability of a response.

(A) removed, increases

(B) removed, decreases

(C) presented, increases

21.

(D) presented, decreases

A strong tendency to seek evidence that
upholds one's beliefs, is called

(A) undirected thinking

(B} confirmation bias

(C) functional fixedness

(D) prejudice

18. dYsRHUL ER usiad afd s2dl §la
au alell g o sdoual ?

(A) deAnet ulsau

(B) et nUR

(C) AR ABSIESA wuz

(D) afdcintat
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€2 Yell (AR B ual As (gl

us auaé :glc{c[l 8lat Ad cd B Aal
_ 889,

(A) {2l udluea

(B) scuss Uil

(C) ussraul
(D) auldcioet
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22. One of the disadvantages of a heuristic | 22, ¥uRARAL (RS W2 AL ULNS

approach to solve problem that, UElomell As A sLuEL

(A) it may yield a wrong answer (A) d vl aetol Al %43 8

(B) it takes sufficient time and effort to (B) a1l dld unMzuel GXel clclal M2
solve the problem this way d Ycll AHA U YA~ A B

(C) itis too random (C) Ayu vcAalRd B

(D) remembering heuristics takes up too (D) ¥2lloticHs ALE AW vol ¥

stadlans ¥yl wofl A 8

much working memory

23. A nerve cell carrying information from | 23. MRl AdEet waaduizll CNS

your sensory organs toward the CNS is a3 m[e‘éaeqéﬂ 5cll Acslnal
5 .

(A) 5128 Acusin

called
(A) Motor Neuron

(B) Effector Cell (B) 8128 sl
(C) Connector Neuron (C) weual Adl
(D) Sensory Neuron (D) A€l dcisin
24. Which of the following is associated 24, o{lAcuuiell 53 wwAdUMs fld yeuldd
with memory for emotionally charged (HUBIRS) tatlwllell ¥ W
events 7 dsnuAdd B 2
1. Thalamus BRELL

2. Hypothalamus 2. slAAAHY

3. Amygdala 3. Alatsteu

4. Temporal lobe 4. oflu sutell vis
(A) 1and2 (A) 1 %a 2

(B) Only 3 (B) 8513

(C) 2and 4 (C) 2 Ul 4

(D) Only 4 (D) §5<t 4




25.

26.

27.

When the action potential reaches the
end of the axon terminals, it causes the
release of :

(A) An electric spark that sets off the next

neuron

(B) Positively charged ions that excite
the next cell

(C) Negatively charged ions that inhibit
the next cell

(D) Neurotransmitters that excite or
inhibit the next cell

Autonomic Nervous System is concemed
with the regulation of : |

1. Smooth muscles
2. Skeletal muscles

3. Cardiac muscles

4. Glands
(A) 1and?2 (B) 1,2 and 3
(C) 1,3and 4 (D) 3and 4
In old age, of brain decreases.
1. Volume
2. Weight

3. Action potential

4. Neurons
(A) 1Tand 3 (BY 1and 2
(C) 2and 4 (D) 3and 4

25.

26.

27.
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28.

29.

30.

31.

32.

Which are calied effectors ?

(A) Those organs through which human
get stimulated by environmental
stimulus

(B) Those organs which help human to
respond

(C) Those organs which help human
to understand things in the
environment

(D) Those organs which help human in
reading and writing

Which part of the brain is responsible for
motor coordination ?

(A) Cerebellum
{C) Cortex

(B) Spinal cord
(D) Thalamus

Which hormone plays important role in
aggression ?

(A) Aldosterone
(C) Oestrogen

(B) Testosterone
(D) Progesterone

The ego operates according to the

(A) guilt/pride principle
(B) pleasure principle
(C) reality principle
(D) reflex principle

The primary olfactory cortex lies in which
lobe of the cerebral cortex ?

(A) Occipital iobe

(B) Temporal lobe

(C) Frontal lobe
(D) Parietal lobe

28.

29,

30.

31.

32.
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33.

34.

35.

36.

(D) Hull's theory

Who said that ‘The history of personality
is the personality’ ?

(B) C.T. Morgan
(D) Allport

(A) Henry Murray
(C) Jung

The basic personality traits of Rastrapita
Mahatma Gandhi were peace and non
violence which are cailed

(A) Cardinal trait
(B) Central trait
(C) Surface trait
(D) Dynamic trait

Which theory proposed that two things
have to happen before emotion occurs:
the physical arousal and a labelling of
the arousal based on cues from the
surrounding environment ?

(A) James-Lange theory of emotion
(B) Cannon-Board theory of emotion

(C) Schacter's cognitive arousal theory
of emotion

(D) Facial feedback hypothesis

Which of the theory of emotion attaches
no importance to the feedback of bodily
sensation and believe that the subjective
experience of emotion and the bodily
changes are concurrent?

(A) James-Lange theory

(B) Cannon-Board theory

(C) Cognitive theory

33.

34.

35.

36.
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37.

38.

39.

40.

In Rorschach test response given by
looking white space are located with

(A) D (B) W
(C) S (D) M
Which of the following is not included in

Hierarchical model given by Maslow ?

(A) Need of Achievement
(B) Need of love
{C) Need of self esteem

(D) Need of actualization

Cattel’s method of gathering data in the
absence of any pre-existing hypothesis
is called

{A) Intuitive method
(B) Orthogonal technique
{C) Hypothetic — deductive method

{D) Inductive method

Which are of the following factors is not
included in the “Big Five” dimensions of
personality ?

(A) Extraversion

(B) Neuroticism

(C) Agreeableness

(D) Intelligence

37.

38.

39.

40.
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41.

42,

43.

44,

Which of the following are the sources of
error in social cognition ?

1. Counterfactuals thinking
2. Thought suppression

3. Magical thinking

4. Judging by resemblance

(A) 1and 2 (B) 1,2and 3
(C)y1,3and 4 (D) 3and 4

is an application of operant
conditioning.
(A) Aversive conditioning
(B) Behaviour modification
(C) Systematic desensitization

(D) Transfer of learning

The research that aims at immediate
application is

(A) Action Research
(B) Empirical Research
(C) Conceptual Research

(D) Fundamental Research

Which one is called non-probability
Sampling ?

(A) Cluster Sampling

(B) Quota Sampling

(C) Experimental

(D) Biographical
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45.

46.

47.

48.

Ex-Post Facto research means

(A) The research is carried out after the
incident

(B) The research is carried out prior to

the incident

(C) The research is carried out along with
the happening of an incident

(D) The research s carried out keepingin
mind the possibilities of an incident

Multi-stage sampling is also called as
(A) Quota Sampling

(B) Cluster Sampling

{C) Purposive Sampling

(D) Stratified Sampling

Newton gave three basic laws of motion.
This research is categorized as

(A} Descriptive Research

(B) Sample Survey

(C) Fundamental Research

(D) Applied Research

The process not required in Experimental
Research is

(A) Observation

(B) Manipulation

(C) Controlling

(D) Content Analysis
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49. A hypothesisis a
(A) Law
(B) Postulate
(C) Supposition
(D) Deduction

50. The type of research that determines
the strength of reiationship between two
variables is
(A) Experiment
(B} Co relational Study
(C) Survey
{D) Quasi-Experiment

51. Which one of the following is not a
Neuropsychological Test ?

(A) Bender Visual Motor Gestalt (BVMG)
Test

(B) Halstead Reitan Neuropsychological
Test Battery (HRNB)

(C) Autism Spectrum Test
(D) Ammons Quick Test

52. The TAT is

(A) Low on both Validity and Reliability

(B) High on both Validity and Reliability

(C) Low on Validity but High on
Reliability

(D) High on Validity but Low on
Reliability
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53.

54.

55.

Which of the following is not a procedure
for controlling the extraneous sources of
variance ?

(A) Randomization
(B) Repetition
(C) Matching

(D) Elimination

Which of the following is the explanation

of ‘Premark principle’ ?

(A) A primary reinforcement is thought
of being related to an organism’s
survival

(B) A secondary reinforcer acquires
reinforcing value because of pairing
with primary reinforcer

(C) All responses are potential
reinforcers

(D) More frequently occurring activity can
be used to reinforce the activity that
occurs less often

Which is the higher stage of moral
development in sequence of their
emergence as an individual grows up ?

(A} Morality of interpersonal
cooperation

(B) Universal ethical principle
orientation

(C) Social order maintaining orientation

(D) Instrumental purpose orientation
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56. In what sequence the Social Combination
rules are followed for group success ?

(A) Additive, disjunctive, compensatory,
conjunctive

(B) Additive, compensatory, disjunctive,
conjunctive

(C) Disjunctive, compensatory,
conjunctive, additive

(D) Compensatory, conjunctive,
disjunctive, additive

57. Interpersonal justice refers to judgements
concerning the and
individuals are shown by parties
responsible for distributing _
available to members of a group.

(A} Courtesy, considerateness, rewards
(B) Considerateness, courtesy, rewards

(C) Considerateness, courtesy,
incentives

(D) Courtesy, considerateness,
incentives

58. Which of the following personality
questionnaires have a lie scale ?

i. Edward Personality Preference
Schedule
li. Eysenck Personality Questionnaire

iii. Minnesota Multiphasic Personality
Questionnaire — 2
iv. Rotter's Locus of Control Scale

(A) iandii only
(C) ii and iii only

(B) iand iii only
(D) i, i and iii only
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59.

60.

61.

Clara is going to a therapist to gain a

better understanding of why she has

self-destructive relationships with all her

friends. This type of therapy is known as
therapy.

(A) insight
(C) behavioral

(B) action

(D) biomedical

To overcome her fear of balloons,
because of the loud sound they might
suddenly make should they pop, Bella
must sit in a room filled with balloons
while the therapist continuously pops
each one. After a while, Bella realizes
that her fear is unjustified and even
begins to pop balloons herself. This
technique is known as

(A) systematic desensitization
(B) aversion therapy

(C) flooding

(D) extinction

Maria sat down with her daughter, Zoe,
and together wrote out a list of things
that Zoe was expected to do each day
and the rewards she would get if she
accomplished them, as well as the
penalties she would face if she did not do
them. This is most like which technique ?

(A) token economy

(B) time-out

(C) extinction

(D) contingency contracting
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62.

63.

For both children and adults and for
many undesirable behaviors, the use of

or some form of “time-out’
can be quite effective.

(A) arbitrary inference

(B) extinction

(C) positive reinforcement

(D) negative reinforcement

Family therapy is a form of group therapy
in which

(A} non-professionals lead a selected

group of family members with similar
concerns.

(B) the entire family participates as no
one person is seen as the problem.

(C) family members meetto singie outthe
individual that is causing problems in
the family dynamic.

(D) psychology professionals treat their
own family members.
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64.

65.

If Dr. Phelps uses an eclectic approach to
her work as a therapist, what specifically
is she doing ?

(A) Dr. Phelps tends to rely on the
unconscious as the source for all
therapeutic treatments

(B) Dr. Phelps tends to rely on a
behavioral approach in the

treatment of her clients

Dr. Phelps uses only the newest
and most innovative approaches to
treating her clients

(D) Dr. Phelps uses one or a
combination of any number of
therapeutic treatments depending
on the situation

With regard to treatment of psychological
disorders, many psychological
professionals believe medications work
best in combination with

{A) electroconvulsive therapy
(B) psychotherapy
(C) psychosurgery

(D} deep brain stimulation
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66.

67.

68.

69.

Our general method of dealing with
environment is known as

{A) Intelligence
(B) Perceptual Style
(C) Personality
(D) Cognitive Style

Studies of crowding have found that
crowding

{A) Depends only on physical density
(B) Affects mainly females
(C) Can intensify feelings

(D) Has negative effects only among the
seniors

Conference proceedings are considered
as documents.

(A) Conventional
(B) Primary

(C) Secondary
(D) Tertiary

The information function of mass
communication is described as

(A) Diffusion
(B) Publicity
(C) Surveillance

(D) Diversion
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70.

71.

72.

73.

In communication, connotative words are
(A) Explicit

(B) Abstract

(C) Simple

(D) Cultural

Ozone Umbrelia is located in which layer

of atmosphere
(A) Troposphere
(B) Stratosphere

(C) Mesosphere

(D) ionosphere

Fixed false belief based on incorrect
inferences about external reality is called

(A) Delusion

(B) Obsession

(C) Overvalued ideas
(D) Phobia

Coping behaviour is
(A) Often unconscious
(B) A form of habitual behaviour

(C) Always goal directed

(D) Usually carried out with minimum
attention

70.

71.

72.

73.

UL W c2laglul JYQLeuus 3 uygl aoe
sl B 7

(A) *ur2dgalcAcslR

(B) Yy AL wcAElR

(C) MM & AMLA A2 cAASIR
(D) Mizsldsdew cAcsl?

YSULRLCLL(ALAot) HRaLBL clcla ML
sl Ul At HA B,

(A) QUR¥AR (cdlwagl-yecll ol ¢
Bl usu)

(B) RaAR¥2A2 (yecll ¢l 10 & uo
(32llott usui)

(C) RAR¥A (AaslaMl atl? usdl
Gagell usH)

(D) wSuAlRFa (Yeclell 2R so
&l 1000 (Bllett usH

WEAUAQsdL Bdell vllel weHtol

GUR HIRd RABA ¥Assu wWél
Miclcllal 9 sdaly ?

(A) @il emeu
(B) (Qauz eoueL

(C) wlaL yeu Qe
(D) Qg ellld

U@t ot A2 5ciclol ?

(A) AUCURelclR olellot/ Aol

(B) @’ clclele] WAs 23U

(C) &Nau LA YRcedet

(D) o’jetcti tauetefl 512l wR wseo]
cclot




74.

75.

76.

Concerns with meeting standards of
excellence and accomplishing different
task refer to need for

(A) Affiliation
(B} Achievement
(C) Power

(D) Appreciation

The lowest layer at atmosphere where
air pollutants mainly deposit is

(A) lonosphere
(B) Troposphere
(C) Exosphere
(D) Stratosphere

According to Wundt which of two major
elements of conscious experience ?

(A) Images and sensation
(B) Feeling and image
(C) Sensation and feeling

(D) Sensation and aggression
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81.

82.

83.

84.

Who obtained doctorate on
“anti-intellectualism” from Harvard
University ?

(A) Prof. Radhakamal Mukherjee
(B) Prof. Girindra Shekhar Bose
(C) Prof. N. N. Sengupta

(D) Prof. R. |. Watson

Who has established the first Psychology
laboratory in Copenhagen and when ?

(A) V. M. Bekhterev — 1900
(B) Alfred Lehman — 1886

(C) Luria and Leontiev — 1829
(D) James Cattell — 1859

Who has established the first Psychology
laboratory in Japan ? When ?

(A) Yujiro Motora in 1900

(B) Matataro Matsumato in 1906
(C) Chen Zhang in 1907

(D) Yaoxiangcai in 1908

Who was the first Chair person of the
department of Psychology at the
university of Tokyo in 1981 ?

(A} Matataro Matsumato

(B) Yujiro Motora

(C) Yaoxiangcai

(D) Yang Zhang
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86.

87.

88.

Which is/are the characteristic/s of
Clamity of vision and intelligence ?

(A) Rajasva guna
(B) Sattva guna
(C) Tamas guna

(D) Rajasva and Tamas guna

The first response that people make to
frustration is

(A) Persistence

(B) Increasing efforts
(C) Varying efforts
(D) Aggression

Psychometric tests of creativity like
Terrence tests of creative thinking index
measures creativity in terms of

(A) Person (B) Product

(C) Process (D)} Persuasion

Which one of the following statement

is true regarding the relationship of test

length with reliability and validity ?

(A) Astestiengthincreases, only validity
improves

(B) As test length increases, reliability
and validity improves

(C) Astestlength increases only reliability
improves

(D) As test length increases neither
reliability nor validity improves
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89.

90.

91.

What does construct validity assess in
measurement 7

(A) The correlation between two different
measurements

(B) The reliability of a measurement
overtime

(C) The extent to which a measured
variable reflects the conceptual
variable it is designed to assess

(D) The consistency of scores on the
same measured variable

When taking a multiple choice examination,
one must determine which of the several
alternatives is “correct”, incorrect choices
are called

(A) Distracters
(B) Falsifiers
(C) Do-overs
(D) Beguiler

A computer identifies the specific items
that characterize the skill level of a
particular test taker and this is a most
important contemporary development in
psychological testing, which one is it 7
(A) Item Response Theory

(B) Computers Test Theory

(C) Skill Term Theory

(D) Test Administration Theory
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92.

93.

94.

»

What is the meaning of blocking in

Randomized Block Design ?

(A) Effect of manipulation in independent
variable on dependent variable

(B) After selecting sample randomly
from the population match the
extraneous variable which can not
affect dependent variable

(C) After selecting sample randomly from
the population match the extranecus
variable which can affect dependent
variable

(D) Match the effect of independent
variable on dependent variable

In the scientific method, the final step is

(A) Reporting your results

(B) Perceiving a question

(C) Drawing conclusions

(D) Testing the hypothesis

The greatest advantage to using a case
study is that

(A) Researchers can gather data from
large groups of people

(B) There is a tremendous amount of
detail that can be gathered

(C) It can heip in forming a hypothesis
which can later be tested

(D) It uses animals instead of humans
and therefore does not endanger the
subjects
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95.

96.

97.

By using researchers

can maximize the likelihood of a

representative sample.

(A) Very few individuals from a larger
group

(B) Random selection from a larger
group
(C) Case studies

(D) Participant observation

Which of the following would indicate the
weakest relationship and thus be close
to complete randomness ?

(A) +1.04
(B) —0.89
(C) +0.01

(D) —0.98

What is gender identity ?

(A) Categorisation as male or female

(B) Biological difference of male or
fernale

(C) Personal identification with a
particular gender

(D) Sense of self
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98.

99.

100.

L4

The principle behind two main

approaches taken to understand well

being is

(A) Distinguishing positive and negative
effects, life satisfaction

(B) Balance between positive and
negative effect, self acceptance

(C) Mental peace, positive relationships

(D) Optimal occurrence of emotions,
positive growth

Choose correct sequence of stages in
model of illness by Leventhal.

(A) Appraisal, coping, interpretation
(B) Interpretation, appraisal, coping
(C} Coping, interpretation, appraisal

(D) Interpretation, coping, appraisal

Video conference can be classified as one
of the following type of communication

(A) Visual one way
(B) Audio-visual one way
(C) Audio-visual two way

(D) Visual two way
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